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اكتب الاعداد الاتية بالكلمات:

3,450 : __________________________________

6,028 : __________________________________

9,004 : __________________________________

------------------------------------------------------------------------------------

اكمل المتواليات الاتية:

3,430         3,435         ______       ______        ______

6,550         6,750         ______       ______        ______

______        _______          8,420         8,425     ______

------------------------------------------------------------------------------------

حل التمارين الاتية :

8,540 + 172=                                  9,000 – 2,381 =                     2,312 x 3 =
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